

J MEDICAL SUPPLY

EXAM GLOVES







PRODUCT CATALOG



J2-100 Advanced 9.5" Nitrile Examination Gloves

SKU #1: JVBBCHSMC SKU #2: JVBBCHMDC SKU #3: JVBBCHLGC SKU #4: JVBBCHXLC

Box/Case Count: 100 units per box | 10 boxes per case | 1,000 units per case

Minimum Order Quantity: 1 case

• ASTM D6978

FDA 510(k) approved -K170136

Sizes - Small, Medium, Large & Extra Large

Product Color: Blue

Latex Free/Powder Free

o Thickness-Palm: 3 mil

• Thickness-Fingertip: 4 mil

• Product must be ordered in full case increments



SCAN QR Code To View Technical Data Sheet

J2-100 Advanced 100ct and 200ct boxes are compatible with universal glove box dispensers

Chemotherapy drug list and times on each box of gloves



J2-100 Advanced 9.5" Nitrile Examination Gloves

SKU #1: JVB200SMC **SKU #2:** JVB200MDC **SKU #3:** JVB200LGC **SKU #4:** JVB200XLC

Box/Case Count: 200 units per box | 10 boxes per case | 2,000 units per case

Minimum Order Quantity: 1 case

• ASTM D6978

FDA 510(k) approved - K170136

Sizes - Small, Medium, Large & Extra Large

Product Color: Blue

Latex Free/Powder Free

o Thickness-Palm: 3 mil

Thickness-Fingertip: 4 mil

Product must be ordered in full case increments



SCAN QR Code To View Technical Data Sheet

PRODUCT CATALOG



J2-100 Advanced Plus 12" Nitrile Examination Gloves

SKU #1: JVBB12SMC **SKU #2:** JVBB12MDC **SKU #3:** JVBB12LGC **SKU #4:** JVBB12XLC

Box/Case Count: 100 units per box | 10 boxes per case | 1,000 units per case

Minimum Order Quantity: 1 case

• ASTM D6319

• FDA 510(k) approved

Sizes – Small, Medium, Large & Extra Large

• Product Color: Blue

Latex Free/Powder Free

• Thickness-Palm: 4 mil

• Thickness-Fingertip: 6 mil

Product must be ordered in full case increments



SCAN QR Code To View Technical Data Sheet



J2-100 Premium Black Nitrile Gloves

SKU #1: JVBLCHSMC SKU #2: JVBLCHMDC SKU #3: JVBLCHLGC SKU #4: JVBLCHXLC

Box/Case Count: 100 units per box | 10 boxes per case | 1,000 units per case

Minimum Order Quantity: 1 case

• ASTM D5250

• FDA 510(k) approved

• Sizes - Small, Medium, Large & Extra Large

Product Color: Black

Latex-Free/Powder Free

Thickness-Palm: 4 mil

Thickness-Fingertip: 6 mil

Product must be ordered in full case increments



SCAN QR Code To View Technical Data Sheet

PRODUCT CATALOG



J2-100 Premium Vinyl Gloves

SKU #1: J2VG4MSMC SKU #2: J2VG4MMDC SKU #3: J2VG4MLGC SKU #4: J2VG4MXLC Box/Case Count: 200 units per box | 10 boxes per case | 2,000 units per case Minimum Order Quantity: 1 case

- ASTM D5250
- FDA 510(k) approved
- Sizes Small, Medium, Large & Extra Large
- Product Color: Clear

- Latex-Free/Powder Free
- Thickness-Palm: 3 mil
- Thickness-Fingertip: 4 mil
- Product must be ordered in full case increments



SCAN QR Code To View Technical Data Sheet